RV Series Automated Dispensing Systems

Quick Start Guide

Guia Répida  Guide Rapide de Montage ® Guida rapida di avvio ® Guia Répido ¢ Schnellstartanleitung )
Priivodce rychlym nastavenim e Szybki start ¢ Kpatkoe pykoBopacTBO nosns3osarens ¢ Gyors Betizemelési Utmutato
REBEIEE o V1A Y I RY—NAA R o tHE A|Z} QYA

Desembale y Compruebe
Déballer et Vérifier
Disimballo e controllo
Desembale e verifique
Auspacken und Uberpriifen
Rozbalte a zkontrolujte
Rozpakowac i sprawdzi¢
Pacnakyiite 1 npoBepbTe
Csomagolja ki és ellendrizze le
FRERNE
HiEEAENOF vy

Unpack and Check

Install DispenseMotion™ Controller

Instale el Controlador DispenseMotion

Installer le Controleur DispenseMotion

Installare il Controller DispenseMotion

Instale o Dispensador de Movimento Controlador
Installation DispenseMotion Controller
Nainstalujte kontrolér DispenseMotion
Instalacja DispenseMotion Controller
YcraHosuTe koHTposnep DispenseMotion
DispenseMotion vezérld telepités

L HDispenseMotionFi 415483
DispenseMotiond> hOA—S DB

e o =hol DispenseMotion -8 HEZE2 dX|

a B wm3xse
b =) M4xse

Install Camera

Instale Camara
Installer la Caméra
Installa videocamera
Instale a Camara
Kamera installieren
Nainstalujte kameru
Zainstalowac kamerg
YcTaHosuTE Kamepy
Szerelje be a kamerat
LEEGK
AAZOEDFFF
7t 2t X

Optional

a M M4 x 15 Opcional
En option

b @? M4 x 12 Opzionale
Opcional
Optional
Volitelné
Opcjonalnie
AO0NONHUTENbHAsA onuus
Opciondlis
RIERD
A7vay
S

WATCH SETUP VIDEOS
www.nordsonefd.com/Robotlnstallation



http://videos.nordsonefd.com/category/videos/robot-accessories-installation

Connect to Camera

Conéctelo a la Cdmara
Connecter a la Caméra
Collega a videocamera
Conecte-0 a camara
Kamera anschlieBen
Pripojte ke kamere
Podtaczy¢ kamere
MpucoeanHuTe K Kamepe
Csatlakoztassa a kamerat
EETRGK
NRSDEHT

7ttet 4

a @ Mm2xs

Install Dispensing Device

Instale el Dispositivo de Dispensacion
Installer le Systeme de Dosage
Installa il dispositivo di dosatura
Instale o Dispositivo de Dispensagéo
Dosiersystem installieren
Nainstalujte davkovaci systém
Zainstalowac system dozujacy
YcTaHoBWTE CuCTEMy A03MPOBaHNA
Szerelje be az adagoloberendezést
LELRIRE

BHEBORO T

Cj2mEd Cjutol2 X

a @B oioxse

b —o» M4x10




Connect Cables

Conecte Cablesde aire
Brancher les Céables
Collega cavi

Conecte os cabos

Kabel anschlieBen
Pripojte kabely

Podtaczy¢ kabel
MpucoeanHuTe kKabenn
Csatlakoztassa a kdbeleket
EERIRIRS
T—JILOERDfFiF
Aolg 2Z

UsB-CCD
e

a @y M4 x 15
b ¢ Max12

RS232 ROBOT

VO Port Dispenser  Power Switch

L Chorn 55+ 3 —@®

®

| —B I CD)
| . > © =
' ORSZ32-1 Reg2-2 110 Fuse 3A  Power Inlet o '

lﬁl' SHORTED

. Cortocircuito Wytgczony

h Connecteur de Sécurité 3aMKHYTbIN KOHTaKT
Accorciato Lekapcsolt
Abgeschaltet [ SR
Propojeny ABEAT ST ($aHEFH )

4E Z A2




Power ON

Encendido
Alimentation ON
Acceso

Ligacao
Einschalten
Zapnuti pristroje
Wigczy¢
MuTaHne BKITKOHEHO
Bekapcsolds
BIRAFR
BRAY

Y #H7|

Click Home

Haga Click en Incio

Cliquer sur Home

Clicca Home

Clique em Pégina Inicial
Klick Home

Kliknéte Domti (Home)
Kliknigcie Home

Haxxmute HOME (LJomoii)
Klikkelj a HOME-ra
REER

HomeZzovUvy
Home HE 28

%ﬂﬂﬂgm}ﬂ]ﬁlﬂaﬂﬂﬂgﬂ

ek home! 1 2 3 0 5 5

Open DispenseMotion

Abrir DispenseMotion

Ouvrir DispenseMotion

Aprire DispenseMotion

Abrir o Dispensador de Movimento
DispenseMotion 6ffnen

Spustte program DispenseMotion

Otwarcie DispenseMotion

3anyctute nporpammy DispenseMotion
DispenseMotion™ megnyitas

B hDispenseMotion#x

DispenseMotiony 7 kD75 LI K ‘
. A Dispense
DispenseMotion T2 12 M3l Sotion” ‘

Nordson

EFD
For Nordson EFD sales and service in over
40 countries, contact Nordson EFD or go to
www.nordsonefd.com.

Global
800-556-3484; +1-401-431-7000
info@nordsonefd.com

Europe
00800 7001 7001
infoefd.europe@nordsonefd.com

Asia

China: +86 (21) 3866 9006; china@nordsonefd.com
India: +91 80 4021 3600; india@nordsonefd.com
Japan: +81 03 5762 2760; japan@nordsonefd.com
Korea: +82-31-736-8321; korea@nordsonefd.com
SEAsia: +65 6796 9522; sin-mal@nordsonefd.com

©?2025 Nordson Corporation 7363579  v070725




